dwplwyht qékip (odtpnpudbnubn)

Uujwunid JupYwihu ghd “Chduwynpywsd tlwdninny” gnpdhph nbinblwunywywu
wdthnthwghp

Skuwl ywplywiht gdtip (oytipnpudinutin)

Luwjwwnwly pninp Uwwwwyubph hwdwp

Qnudwph swih/dhowlw)p Jwpyh ujwquagnyu gnidwp - 300,000 << npwd
YJwpyh wnwybjwgnyu gnwdwp - 5,000,000 ££ npwd

dwdlybwn 60 wdhu

Updnyp < npwd

dwpyh wujuwuwluwu 15.7%

wnlnuwnpnyp’

Jwpyh hwunmwgh mnjuwnpnyp | 16.87%

UGJwawywl winynuwnpniph
thnthnfudwb wng b wwdwaaen
Owuwuwnbubin. nGwpnLd

sh uwhdwuynud

Mwpuwnhp yéwpiwu Gupwlw
J6wpubiph gwty b npuig

e Pwpwunh nwpbwu uywuwpynw - wudbwn

swith/dhowluyp

Eppnpn wuédwug Ynndhg sh uwhdwuynud

dwwnigynn odwnwy

Swnwynipyniubp

dwpYyh hwuwubjhnyejniup -LL ny nighntuwn Shghlwywu wud
uwhdwtuwithwynn pninp - pwgwuwwu JuwpYwiht ywwndnigjwt wnlwniejniu
wwjdwuubkpp - nwphp' dhusk 21in U 65in-hg pwipdn

- gpwugywd GYwdnh pwgwlwinientu

Uwpnuiubph hwbwluwlwunipyniu

wduwlwu

Upwnujw) dwdlybun («gpbju
wbiphnnp)

sh uwhdwuyntd

Uwpnwdubph Gnutwl

o Lwnywdph gbutipwgdw opyw npnipjuidp Juplwih qdh
pwgwuwlwu duwgnpnh tuquagnyup 5%-h swihny npwdwlwu
dhongubiph dnwnp dhush wduyw ybpoht opp (npwywu
opowuwnniwl wwwhnynwd), nnynuwgnwwnpubipp yéwnynud Gu
wdbu wdhu, hhduwlwu gnudwph dwpnwip dwdybtinh gbiponwd

e wiluwlwu hwjwuwpwswih dwpnwubpny

Pwumwgh oginwugnpdywd
dhgngubiph nhdwg hwizquplyws
wnynuwnpnypp,
wnnlnuwgniiwpubph

hwaqupldwy Yupgp b hwzdh
ujwqugnyu 2wpdp

e dwpyp thwunwgh nnjuwnpnyp 16.87%,
e hwoyh ujwqugnyu 2wpdp S%(wduwywu 2powtwnniejwdp puwnpbint
ntiwpnid)
e dwpyh hwuwnwgh ninynuwnpnyp hwoytint pwuwsu !’
PR P

T+ !_)i,i:'

1 npwtn 71— tnnwpbywb thwunwgh tinynuwnpnypb k£, A— uwwrennhlb npwdwnpynn yuwnpyh gnudwp, 7 - uywennh Ynndhg ywnyhh dwpdwbb
ninnywé (Jwpyh dwyn gnudwp, tninynuwgniiwpbbn Lywy) wy y&wnpnidbtph gnidwpbtn) ydwph (06pwejw) ywpyh unwgiwl wwhhb
Ywuwnwnydnn y&wnph) htppwywb hwiwn, N-Jwnyh dwpdwbb ninnwé yepoht y&wnh hwdwn, Ax - uywrennh Ynnihg Jwpyh unwgiw
wwhh L(Ywd) Junpyhh gnpénnnipwl pbpwgpntd Yuwunwpywdé hppwywb' n-nn y&dwnph gnidwnb £ (Gwyp gnedwn, ninynuwgniiwnbbn b
(Yw) wy J&wnniabbnh gnidwnltn), On - wyb ghyb k, npp gnyg £ wvnwihu, b pwbh onp £ wbgk) Ypbnhwunh unwgiwb ophg thbsl Yntnhwh
gnidwnph htppwyw n-pn dwndwb opp OGpwrejwy




e YJuwpyh thwuwmwgh nnynuwnpnyp hwoybint oppuwy’
dwpYyph wpdnyp' << npwd
dwplyh gndwp’ 500,000
Sunnnipyniu’ 60 wdhu
Jdwpluwjhtu qéh ogqunwgnpénid’ Yuwufuhlwgdwdp
dwpYyh ognwgnpddw op' 05/09/2019
Swpbjwu wujwuwlwu winynuwnpnyp’ 15.7%
Muwpwwnhp htwnyg6wph swih' 5%
Swpbywtu hwunwgh nnlynuwnpnyp' 16.87%

Uwjwhnynipjut (gpwyh) wnbuwy

sh uwhdwuynud

«qupl hwpwpbpws gpuh
wpdbip»

sh uwhdwuynud

Uwywhnjwuqgpnipjuu ywwhwugh
wnlwynieniu

sh uwhdwuynud

Snlnu soquugnpéjwé shongubph
nhdwg (wnjwjniejwu nbwpnid)

0%

Ljwqugnyu Yuufuwybwp
/wpdbip

sh uwhdwuynud

Snydtpph Yphpwndw nwyptpp L
swithp

wwpwwnhp dnunpwagpynn gndwpp sdnwnpuwgnbipnt nbwpnid wninyd'
sununpwagnpywd ujwqugnyu gndwph 4%-h swihny

dwpyh gnidwph npwdwnpdw
Gnwuwlubp

wulwulupy' gndwpp pwpwnpu thnfuwugdwu dhongny

Jdwpyh Junwdwdlbwn dwpdwl

huwpwynp nbwpbpp L
wwydwuubpp

wnwug uwhdwuwhwynwutiph

Jdwpyh dhwybpuydw Juyp

Pwulyh dwutwédjninbp b 9uwdwuwihb gpwubijuwyh uywuwpydwb upwh

Npn2dwt Yujwgdwu U npnadwt
dwuht mbkntYwgubint
wnwybjwqgniu dwdlbun

dhusl 1 wofuwwnwupwih op

JdwpYyp uywnnnh mpwdwnpbint
Ywpg b dwdybwn

wulwutuhy dpusl 1 wotuwnwupwhu onp

Tpwlwu npnadwu gnpéntubp

- £ nbghnbuwn dhghlwlwu wué
- npwywu Juwplwiht ywundnientu
- Yuwyniu GYwdnunubp

- tnwphp' 21 - 65

Pwgwuwlwu npn2dw
gnpénuubp

- £ ny nkghnbtiun Shghlwlwu wud

- pwgwuwywu Juwplwiht ywwndnigjwt wnlwniejniu
- BYwdnunubph pwgwywnie)nu

- mwphp' dhtsl 21in U 65w-hg pwpép

Uuhpwdbywn thwumwpenpbkph
guiuly

- nhdnwd, wuduwghp, ung. Lwpwn, Glwdnunubipp hwuwnwwnnn
thwuwmwpenine (pwgwnnyejwdp 3ntupwuy PRPC  htn wotuwnwywpdwihu
Uwluwghd niubignn hwbwfunpnubiph)




